Supplemental Digital Content

Difference Jawbone UP and Z-Machine (Sleep)

Difference Actigraph and Z-Machine (Sleep)

Bland-Altman Plots: Sleep
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Difference Fithit and Z-Machine (Sleep)

Difference GeneA and Z-Machine (Sleep)
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Difference Lumoback and ActivPAL (Sedentary)

Difference Fithit and ActivPAL (Sedentary)

Bland-Altman Plots: Sedentary Behavior
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Difference GeneA and ActivPAL (Sedentary)

Difference Actigraph and ActivPAL (Sedentary)
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Difference GeneA and Actigraph (Light Intensity Physical Activity)

Bland-Altman Plots: Light Intensity Physical Activity
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Difference Fitbit and Actigraph (Exercise)

Difference GeneA and Actigraph (Exercise)

Bland-Altman Plots: Exercise
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Diffsrance Jawbons UP and Omron (steps)

Diffsrencs Nike FusiBand and Omron (stsps)
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Bland Altman Plots for Steps: Comparisons as labeled.
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Differance Fitbit and Omron (steps)

Diffsrance Lumoback and Omron (stsps)

Differance ActivPAL and Omron (steps)
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